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Senator Lines, Sue provided in writing 

Impact on two parent families where one doesn't meet activity test 

Question

In relation to the two parent families who will lose access to child care altogether because 
one parent doesn’t meet the activity test: 
a.  How many are in each income category:
i. $65,000 - $75,000
ii. $75,000 - $85,000
iii. Continue in $10,000 bands, or in any other groupings the department can provide – 
including the income groups release by the Minister in his media release.
b.  How many of these families have one child, two children, three children, four plus 
children?
c.  How many children will lose access because of this? 

Answer

Please refer to Additional Estimates question SQ16-000142. 


